SuMPO EPD

SiiiP©
.QEP,AQ FAFNBBEEE (EPD)

VERIFIED

ZixES ¢ JR-AlI-25440E

RICOH

imagine. change.
HAa—

RICOH COMPANY,LTD

BEH
SHm1BHreY

BEX RERRE
WEHRE mELY)
BEMEERE, £, .
M- HFEE, EE- YY1

OB, TEEHKR-HT
A= : MP305+SPF (for EU)
FEMARR-FETT
e (EPAR)

-£/0 3089 (A4)
<YV IE=/AF 0V /FAX
- BB Rt AN AL

- B B 0 [ ED R B RE
CRAREYIR A3

FEWAEHhEE

HARHYI- RRBAHXFHERA-3-6

https://www.ricoh.co.jp/

SUMPOBBIEIANI IOV S A
— R EIE AT AT H IR S HE RS
REHTREXAHET-14-8

KANDA SQUARE GATE

https://ecoleaf-label.jp

BEHREHEPAR)

MP305+SPF (for EU)

RICOI

(2
ERES JR-AI-25440E
WAPCRES  PA-590000-Al-08
PCR#% EIEYN:wal- £
~FA 202638 2H

RIAEEEE 2026428178
REEAR VATLFEEA R
RAES JV-AI-25440
RIEEMER 20314528168
PCRLE1-DENE
REHRZE 202349818
ZER Ml Ex
—MBAREAY AT F IR 2 R
B=EREE"
HNEBIRELS WH #x
ISO14025(2HE>1=ARE & R UT -5 DIz LR EE
OREB WAL 5B

*YAT LRAER IR EFAORIEDZ R, YATLARIETOLBEEEDA
HiEECHE.

BTEE  (03) 3777-8111 (&%)

B#HES ¢ JR-Al-25440E


https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/

SuMPO EPD SUMPOBRIESNILTOIS s

5““’"’0 — A EIR A Y AT AR RS
.. ' 94FINEBEE (EPD) FRBMFRERXAMHE-14-8
VERIFIED KANDA SQUARE GATE
EEES ¢ JR-AI-25440E https://ecoleaf-label jp
OF17V1 )V R & s R
0% 20% 40% 60% 80% 100%
SUREZE) IPCC 2013 GWP 100a 740 | kg-COzeq
2L 0.85 | kg-SO.eq 6
BRHE 0.27 | kg-Sbeq °
m DR #8E mQHEE = Q&
EQOFER-HFEE =OFEE-UYSIL
AR IHE  EfI &% OFRMRTE Q%E QB |@Em-wEEE CORE-UTI)
[MEEH) kg-CO.eq | 7.4E+02 || 2.3E+02 | 16E+01 | 29E+01 | 4.3E+02 | 4.1E+01
[73c(d kg-SO.eq | 8.5E-01 2.6E-01 1.1E-01 2.7E-02 4.4E-01 2.0E-02
BERHE kg-Sbeq | 2.7E-01 2.1E-01 4.9E-05 1.2E-04 6.4E-02 2.1E-05
@ 5 MR UMEICBIT 2B
IEH Bify mR-mE (ERERS) Bifu
FBFEMEER 3.9E+01 kg SuUs 2.1E+00 kg
BAEARRER 8.6E+01 kg TIVIZUA 1.7E-01 kg
E=paki 14E+01 kg
ZOERE 1.3E+00 kg
e e ) 1.3E+01 kg
EEAL 1SR 1.6E+00 kg
A5 1.0E+00 kg
L 1.1E-01 kg
HE 4.7E+00 kg
B 3.1E-03 kg
EEEFREMR 43E-02 kg
At 0.0E+00 kg
Z0ft 0.0E+00 kg




SuMPO EPD SUMPOBRIESNILTOIS s

SEUME;)D _ — AR AY AT F IR E S
o .0 AAAAA 1TINREEE (EPD) FEREBT REEAME-14-8
VERIFIED KANDA SQUARE GATE

Z$3%ES © JR-AI-25440F https://ecoleaf-labeljp

CBREECAVWBYFUACBWGERLEE M
- EEEPAHR)
‘B ROERTS ¢ RN
MEEFEM - SEM
A TE E R ¢ 540,000803%
KEBIRVF-R5-TO0J5LEVer2. 00EE 5% EH
-ERENEE (EIRIBK) 0B8RFEET ELTWEEA,

©-1.Z Dt DIRIFREIF R

*BRIMROHSHE S ICEMLTVET,
CABFOEIEEL, TEFRTHBIBNME, M-DEEIZISO14001RERB T HCTHHTTHN TVET,
FREEES : JQA—E-70001, SGS-CN18/20330.01, Intertek-CERT-0138391
https://jp.ricoh.com/sustainability/environment/management/iso

DERLEZRT-9DEZS

IDEA v3.1.0. B&U, TOUVILEFRREAIVI152ERALTVET,

®fF%E

OT-YEEDAH K. PCRELUVEE - EEHRBESHBL I,
OLLE(IIOVNTE BE - EERBICRESNEZRHEHLILSGELLATEHONEEA,
(ZBH5EURL : https://ecoleaf-label jp/regulation/)
E#&ES ¢ JR-AI-25440E



